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9 9 5 7 30
1 JOBBX5 9 9 5 7 30
2 C1HL56 7 6 0 3 16
3 HXOTWN 7 7 5 0 19
4 JPQVFH 8 8 5 3 24
5 BB82EO 6 6 3 1 16
6 CX3L75 5 5 3 0 13
7 AMS8NC 6 5 2 3 16
8 BBNYD3 9 8 4 6 27
9 OV5B2E
10 IHMWQE 8 5 2 23
11 JPQSDZ 6 4 1 2 13
12 HE7BVM 8 6 5 4 23
13 CPO5BC
14 HD5EY2 6 5 3 2 16
15 ORH8MT
16 NLH750
17 TODXUG
18 V4L739 9 9 5 3 26
19 G6vQuU4 3 1 1 5 10
20 GCEK2E 9 9 5 7 30
21 X8C7UD 7 7 5 2 21
22 M42CzZV 9 8 5 4 26
23 F20YDC 9 8 4 5 26
24 HQIMUK 9 8 4 3 24
25 DJDXRL 4 4 2 5 15
26 L9ZN2I
27 BPUSVM
28 FEIS2F 0 0 0 0 0
29 EIDCAX
30 ZWSEKV 7 7 4 6 24
31 H74MS4 9 9 5 5 28
32 QIVHSX 9 9 5 7 30
33 FD654Q 9 9 5 7 30
34 CIA717 7 8 5 4 24
35 CQ92JG 0
36 XQ2KWP 5 5 3 19
37 JAIMUS8 9 5 2 24
38 R6XKKB 0

FL1Y38 9 9 5 6 29




